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f(x)=Tx-1g(x)=3(x—1)

d) h h(6)

9 = 3 (x-1) fe) = Wﬂ"%}
9= 3(3-1)  £00= A ho-d-
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f(x)=7Tx-1g(x)=3(x—1)

e) h(2)-f(3)
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Try These ! /(;\m)

f) g(-3) h(x) = 2x% -1
g) 1(g(-2))
h) h(-3)-f(2)

i) g(x)=27
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s

/(/f/(x;;;x—lg(x)= 3(x—1\)\) i) g(X) — 27
T =221 \>/> 9(x)=3(x-1)
I SN I 27=3(x-1)
e - 27=3x-3
L 27+3=3x
Try These 30=3x
10=x

9) f(g(-2))! h) h(-3)-f(2)

| 9(M=80¢1) o _
g(x)=3(x-1) ! =3(2.qy 1 N(X)=2x2-1 f(x)=7x-1
9(-3)=3(-3-1) I 82-23=3E_3) ) I h(-3)=2(-3r-1 f(2)=7(2)-1
92-3g=3(-4> l 9(-2)=-9 i h(-3)=2(9)-1 25;:1@1
9(-3)=-12 i _ | h(-3)=18-1 =

| f(g(2)) | n(5=17

- 19 h-3)-12)

I f(x)=7x-1 :

: f(-9)=7(-9)-1 1 _

: f(-9)=-63-1 i 17-13

N f(-9)=-64 i 4
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